M6 FEEFEFVU—IE

AR

G B1MA
X0 - 3K

(5H25H(L) OheREITTLARE HERMIG10:30 #&T13:01G™E 28/317]
[(Bk&E] KE (3z6n0B) [—£%] KEF (EXO0B) [C£%F] B0 (B%0B) [=£%F] ¥F¥H (FKO0B)

RS TE  AER (45180
BieE & (15280

- 2 el AN t AN h R

BIX 0 00 0 0|0 O
i N 0 00 0 0O|x| 3

o| O
= O Hl
N| O

<HEEF>

&FTDWEAHE D THERNEF Uz,

IEARE3E. LR (3-Z3) . BE (3 - BXAtEE) D&RFT &Mk
T—RmEBOIFHZEIED & UHUICEKD1IREHIT B,

6[ol(C(d. FEER(2 - EEAFER) DAL EUEK/RET—3E
—. ZBETDE. RITEREG - REBRAM) DG RTER T Z R
5. 15595, 5(C—%E—. Z8M5. BKHE - KIREREZE)D
BRT1sEML.

‘IFTE. ERA7EEERDIFIRZE RESFI4BEZZETT,

FAX(IIFWEIER CENTET . BEEER LTz,

E3PAN I
#® F EH FR KR B LR, B0
woF |l R, i

% 1 |t BHESR. AKX

-~
3
M
Xa

=

N
i
o
(o)

2]

| M| M| BY
_,.l
pa:
H
E
H

B | S

[6] LI (3 EXALRz) 3l 11 0o 0O 1
[4] fhrgE (4 BIAEE) 3] 1| of 0 O
[5] THH (3 FHEFEH) 4 11 0o 1} 0
[7] = (4 KIRfEE) 3l of o 1] 1




[3] N (3 KBRAREZ) 4 0 0 2| O

(8] A (4 EAEE) 3 o o 2] o

H FLt (4 —5%) 1f{ 0 0O 0 O

[2] & (4 BBARTHER) 3] 0 O 2 O

[9] I (3 SiaM) 2| 0 Of 0O 1

[1] =H (4 EHE) 1 O O 1, O

H s (3 =&H) 1 O O 1, O

1 IR (2 BEm) O Oof O 0 O

1 KR 2 2R ol of of o o

H SR (4 BBFEETT) 1| of o o o

1 EIL (3 %) O Oof O 0 O
it 29 3| 0] 10| 3

=H 5[ 94| 22|4|3| 3|1

R |[Oys| 8| 3[1/0/1|2

KR (125 43| 7[1/2/1]|0

B 1| 14| 3|0/1/0|0

5 8|159| 35| 6| 6| 5|3

FE HER

[9] bRt (3 HEERK) 3l of of 1] o
H SEIK (4 KBRARRZ) o ol 1 o o
6 %H (4 BH) o of of o o
[7] AU CAIN=TZES) 3l 1| 0o 2| 1
[4] BsH (3 BAXILRS) al 2| o 1l 0
[3] = (2 FBIE#) 3/ of 1| o 1
[2] g (2 EERATR) 31 1| of o o
H {EH (3 1K) 1 0 Oof 0O O
1 qm) (3 £#%) o of o o O
[5] K (1 I5F%) 2| ol of o 2
[8] BAR (4 FEABEEH) 3l of of 2/ o
[6] PN (3 BAfEEZ) 2l 0| O Of O
H =) (2 HREFEH) 0O 0 O O O
H L5 (4 MEEEKX) 1 1| 1] o o
9 =a] (4 BEEEE) 1 o o o o
[1] 1tR (3 Zil) 2| 1| o of 1
2 s (4 SEXHT) o of o o o0

5 28| 6| 3| 6 5

| BRER T8 & Ik K&

dcR 7] 96 2512 9|2,




0

N

31

127

33

B FEEFER KANSAI BIG 6



